XNNGFS-MS5X10 EAT
BOLKOPSCHROEVEN
MSX10 TORX per 100

(141864)

4015081383966

eLEkTRA vooR IEDEREEN  ELEKTRAMAT




Specificaties

Artikelnummer
Fabrikantnummer
EAN code

Merk
Productgroep
Serie/Programma

Artikelnummer oud

401099502

141864

4015081385966

Eaton

Montagetoebehoren (kast/lessen:

xEnergy mont.

2850080695

Referentie/ Links

> https://www.elektramat.nl/eaton-xnngfs-m5x10-eat-bolkopschroeven-m5x10-torx-p«

[>www.elektramat.nl

Productomschrijving

per 100

Technische details

Type toebehoren/onderdelen Bevestigingsonderdelen-/set
Breedte (mm) 10

Hoogte (mm) 10

Diepte (mm) 13.8

Materiaal Staal


https://www.elektramat.nl/eaton-xnngfs-m5x10-eat-bolkopschroeven-m5x10-torx-per-100
http://www.elektramat.nl

ELEKTRAMAI

ELEKTRA VOOR IEDEREEN



